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2- Wil shorl answers to any 51X questions:
i- Express 0.13 and 1,26 as parcentage.
i I B2 % of houses have a T.V. what perceniage
do not have?
il Dafine irmverse proporation.
- Calculate the Zakat on gold amounting fo Re. 11,10,000
v ¥What is maant by rabe of Zakat?
vl Dafnae profit
wil- A bicycle was purchased for Rs 3450 and sold for
Hs 3850 find the profit percentage.
vili- Find the sale prce (S.P.} when
CP=Re RS0 Profl=10%
- What is meant by pay order?
3 Write short answers (o any 51X queslions:
I« ¥¥hat is meant by matuarity ?
ll- Chaling bax,
il ¥¥'hat would be the exciss duty &l the rate of 150 % one has
b pay agansd an amount of Re, 300,000
w+ Dafine characteristic and mantissa,
v- Sove: log, (x=2) =]
we |1 log x = 0,1597 , then find x

(€xB=13)

(2w 542)

wil= Write first three tarme of a=n+ 3
vili= If By =2 = 12, then find ay,
- Find G.M, batween 2 and By,

4- Write shor answears fo any S1X quastions: (2x8m13)
I Find A® M U (1,234,567 8landA=(2 3, 5
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i Dafine a function HpAdN L
= I A = {3, 5, &) and B = {1, 3}, then find A« B and B « A, BrAoAxBinBufl, A= sl i
-
iv- Dafine ordered pas AT T T
v- Rapresant A-3, 7) on graph paper e g IS
vi- Convert 88°C Into taheenhait (F") L avei S e vl
vil- Define histogram, ELFTSE i
vill- For the data sed 8, 2, 4, 3, 4,6, 4, 5 find the mods, W B, 2.4, 4,548 el ik
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(@) If price of 20 pen is Rs.2000, then what is price M.._..‘w““._m_:._;n Image r_h.h.w.r 2000 xqmn\.._ () .
b w__m:ﬂ.mmzwnm_nﬂm" 2330 x 2170 o

(b} A deceased left a property of worth Rs.45,00,000. pixels 00,000 &% | Fr\ okl ()
If he left behind a widow and two sons, then what TEE Lt Ao 1 ol o LIS I $2E
would be share of each. o

(a) By selling 100 oranges, a vendor gains the selling =3} e dSUH 20 7421100 t.__.r._,m_wtm\_ () -
price of 20 oranges. Find the profit percentge. -ﬁ{ _Jr\..L % - b cI..

(b) Ali lent to Abid Rs 4800 for 7 months, At he end of (O Lty N s BT T &-1,4800 Faif (L)
this period Abid had to pay Al profit of Rs.119. LAl § Bt Kt B 119 S ¥ sy
What was the rate of simple profit per annum? S i

(@) The total income of a person is Rs.525000, where as 1] LA B &1 525000 IS (.
the exemption is Rs. 150000, Work out the tax payable Sk 4.5 ;3473 S U1 g i14150000 4
@ 4.5 % alongwith the income tax rate if Rs.10000 has ¢ §&10000 5 25 o L foe g
already been deducted at source as income tax. 8 _...m.m Mfu%# S trﬁchxw_

(b) Simplify and write the answer in scientific . L. 521x10° x12
notation: 221X 10° x 12 - ﬂm._‘ﬁ.._.\._.,ﬁt_ a 2 x10° it

2 x 102

(a) Find 45" term of the AP. 6, 4,2, ....... ek b a50 6,8,2, .. 1t (L)

(b) If U={4,6,8,9, 10}, A= {4, 6} and B = {6, 8, 9}, B=1{6,80) s A={4,6}.U={4,6,89,10) .1 ()
verify that (A~ B)® = A% U B® (ANB)® = A®UBC® sz

{a) Draw the graph of y=2x - 3 bk W ys2x-3 (L)

(b) Find the mean and median of the L byl bl € 3,5,6,8,8,0,10 s (L)

data 3,5,6,8, 8, 9, 10.
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2. Winite short answers to any SIX questions: (2x6=12) - F e L (B i .2
- Convert express 0.065 as perdentage. et noes L
ll- ncrease 40 bocks in the ratio 5 ; 4. what would be o Pl LN a0 2t (504 il
the number of increased books, ATV g 1
lii- Define compound praparion, AT (I
w- Caiculate the amount of Zakat on an amount of Rs, 500,000 S B g S en 500,000 v
v- Define Ushr. sl
vi- Daniyal buys 6 sweets at a rupes and selis them, Unvdimatdvr e Son ol _vi
8 sweets for a rupee. Find his koss in percentage. R e T Fulee blas Juiea
vil- Define prafi, Al Ll
vili- The marked price of a cieling fan is Rs.720, P s 720 o 1t o lvagl v
It is sold for Re 684, What percentage discount P | T G Math-9 GUJ-G 2-(P
is baing allowed. _|_.r:_f.r EJIIEIFI'IFI
- Define current accoun. . AR
4 Write short answers lo any SIX questions: (2x6=12) .ﬁgf.:.- T_:'rFIE' Ehtmap Image
A man boraws R.1.00.000 for 3 years st therate of 18 % p.a. sibaahtp i3 § 228 F01 KB :
What is the mark up he has to pay? Tl 8.1 1 BT Dl|rr1Er15||:Ir‘1: 2410 % 3.
li- Define property tax, pixels -
il If the annual value of a flat is Re B,00,000, Find the i et 5_u-n.u|:rnr,'m;uu- LI:.-.:-F..J}'I;'II il
tax payable ot a rate of 15 %, e & b e sl anlts
v Wirite 6.1 x 10°% in the decimal form. p Pl g1 Ly
v- Convert leg, 1000 = 3 Into exponential form, e Plesis log,,1000=3 _y
W= If log x = 4,4238, find x. -ﬁrﬁ'.:uf..f:?.rr Iu-g:l-lﬂ!ﬁ.-"'l =i
Wik Find first thoe bemms of a5 = 5':.- ek £ B S ag = 5];. -Vl
Wil- If a= 2 a, =402 n= 28, than find d for AP, AP fane 28, a, =402, a2 _vil
o] (dd
- Find AM batwesn -3, 7, B Fea £ -3, T i
4- Write short answers fo any SIX questions (2x6=12) AR AL oy () £ 4
|- Define binary relation A
- # U={4,6 89 10)andB (6, 8 9. thentnd BS. i B 5e B (8, 8, 9} . Us(s @80 10 .1 i
lil- I A= (2, 3,4 5)and B= (8, 7). then find AL/ B B AUB I Be (8, T A2, 3,480 i
v~ What is meant by ordinate? Teslr P 2 h? v
v- Reptesant o(-5, -1) on graph paper. Bl p ST 8B
vi- Convert 150°F into centigrade (°C) 2P e LIS 1800 v
vil- Dofine hstogram, Ay
viil- Write twe proparties of arithmatic mean by (i e e

= Find range of 2,3, 6, 8, 11, e 298811
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(a) The price of 15 suits is Rs.6750. How many such

suits can be purchased by an amount of Rs.40507
(b) Workout the share of each, if the inherited property
amounting to Rs.7,50,000 is left by deceased, who

also left a widow, two son's and one daughter.

(a) Aslam, Anwar and Akram earned a profit of Rs.250,000

from a business if their investment in the business are

the ratio 4 - 7 - 14 respectively. Find profit of each.

(b) Find compound profit of Rs.5000 at 4 % per annum

for two years and 6 months.

(a) The price of a bicycle is Rs.3500 if 16 % sales tax is

charged then calculate the amount of sales tax on

50 such bicycles.

B.67x 3.94
1.78

(a) !fthree AMs between a and b are 5 9and 13,
then find a and b.

(b} Evaluate

(o) If U={1,2,3,4, ...... 12), A={2,3.4,6,7,8,9)

and B={2 3, 5,7, 9}, then find
(AnB)¢ =AU B®

(a) Draw the graph by plotting the points A(2,0), B(7.0)

and C(1,8).
(b) Forthedata 3,5, 6, 8, 8,9, 10, find mean,
median and mode.
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